INTERMEDIATE EXAMINATION 2020 (ANNUAL)

MODEL SET
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Instructions for the candidates :-

1.  Candidates are required to give answers in their own words as far as

practicable.
oIl JTHNg U TRl W SR S |
2. Figure in the right hand margin indicates full marks.
qIe 3R BIRR R QY g 3 Yulie fAfqse &vd 2 |
3. 15 Minutes of extra time has been allotted to the candidatesfor reading

the question carefully.

9 U UF Pl FYdd UgH & ford wienel &1 15 e &1 sifaRaa

gayg fear Tar g

4.  This question paper is divided into two sections: Section-A and
Section-B
g YT UF 31 WGUS| H B, WUS—3] Ud WUS—q

5. In Section-A, there are 42 objective type questions. Answer any 35
quesions, each carrying 1 mark. Darken the circle with black or blue
ball pen against the correct option on OMR-Answer Sheet provided

to you. Do not use Whiterner/Liquid/Blade/Nails etc on OMR-



Answer Sheet otherwise the result will be invalid.
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In section-B, there are 18 short answer type questions (each carrying
2 marks), out of which any 10 (ten) questions are to be answered.
Apart from this, there are 06 Long Answer type questions (each

carrying 5 marks), out of which any 3 questions are to be answered.

Gue—q ¥ 18 o I U 2 (Ud & o <1 o MR =), [+ |
feb~gl 10 Ul BT STR <1 AR © |59 3ffcRe, g9 Wvs ¥ 06 dH
ST U & (IS & ford 5 & iR =), N & fh=i 3 U=l &1 SR
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Use of any electronic appliances is strictly prohibited.
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Wgus—31 / SECTION-A
(a¥xgfss weA) / (Objective Type Questions)

In the following question nos from 1 to 42, there is only one correct
answer against each question. Mark the correct option of any 35 ques-
tions of the following on the given OMR-answer sheet. If a candidate
answers more than 35 questions, then answers of first 35 questions will
be evaluated only. (1x35=35)

fferRad ue @ 1 9§ 42 T & TS U & fordl U & fadhen w2 7 |
STH A fh=2l 35 Ul &1 |el SR 3 T OMR-S<R U5& H fAfted &N | 3R
DIy TIETil 35 W SITRT Ul &1 SR < &, Al YA 35 YAl & IR Bl & Sirg
B | (1x35=35)

1. fFr=afaRed 4 9 @9 fag@ &1 gardsa © ?

A. Mg B. Ge

C.Cu D. 399 9 |41

Which of the following is a good Conductor of electricity?

A. Mg B. Ge

C.Cu D. All of these

2. fo=foRad & & &9 sef=mes © ?
A. Si B. Ag

C.Cu D. Fe



Which of the following is a Semiconductor?
A. Si B. Ag

C.Cu D. Fe

=1 ¥ 9 HH— A=l shrs a9 W) R T8 Bl © ?

A. I B. AreRar

C. HreTerar D. g9 9 9+

Which one of the following concentration unit does not depend
on temperature ?

A. Normality B. Molarity

C. Molality D. All of these

ArST arex F1 7 ?

A. S § CO, ¥ o1 fdera B. CO, <1 @1 i1 # faerad
C. 3 H Id &7 fderaq D. g7 & 9+

What is soda water ?

A. Solution of CO, gas in water ~ B. Solution of CO, gas in gas

C. Solution of water in solid D. All of these

e DI S oV O 991 & ford, f=ferRad & 9 foaewr g fhar Siar
4
A. PbO B. PbO,

C. Pb,0, D. PbSO,



Which of the following is used to protect iron from rusting ?
A. PbO B. PbO,

C. Pb,0, D. PbSO,

dle W ST o @ ford fferRad # @19 smawas g ?

A. Ib 1Y B. 3% a1y

C. 3G ST D. sifeRirs Sk CO,
Which of the following is necessary for rusting of iron ?
A. Dry air B. Moist air

C. Distilled water D. Oxygen and CO,

frforRad & 99 gdar SifdfioRe ueref o g ?

A. Cl B.F

2 2

C. 1 D. Br

2 2

Which of the following is the strongest oxidising agent ?

A. Cl B.F

2 2

C. 1, D. Br,
gfcas da 39 9 fhad amam ofmar & ?

A. a1g B. aterrg
C. AR T D. 5t

In which of the following metallic bond is found?

A. Metal B. Non-metal



10.

11.

12.

C. Common Salt D. Water
fr=forRad § o RaR g ?

A. PbS B. HgS
C. Hg,Cl, D. HgCl,
Which of the following is Cinnabar ?

A. PbS B. HgS

C. Hg,Cl, D. HgCl,

JATRISTT & IIgdH BTl B SIdel—d O & —

A. 2s22p* B. 2s22p®

C. 1s22s? D. 2s?22p®

The outer most electronic configuration of oxygen is -
A. 2s22p* B. 2s22p®

C. 1s22s? D. 2s?22p®

WFRRM O] & 9Tgaq $el § URl S dlel gelagidl & A&l & —
A 4 B.3
C.2 D. 1

The number of electrons present in the outer most orbit of

Magnesium IS -
A. 4 B.3
C.2 D. 1

p—3nfded BT AMBR BIAT & —



13.

14.

15.

A. W B. S S
C. mfera D. 379 9 9

The shape of p-orbital is -

A. Dumb-bell B. Double dumb-bell
C. Spherical D. All of these
frforRad # 9 wIRed Arel &l Il g 2

A. NaOH B. Na,CO,

C. NaCl D. Na,CO,.10H,0
Which of the following is known as Caustic soda?

A. NaOH B. Na,CO,

C. NaCl D. Na,CO,.10H,0
qrere Ve 8, T

A. I 90T B. WIRUT AIfTH

C. Sifed oqur D. 379 ¥ |4l

Potash Alum is a

A. Double salt B. Simple Compound
C. Complex salt D. All of these

ERT H Bl URHIY] BT UHHUT & —

A. sp? B. sp?

C.sp D. d%sp®



16.

17.

18.

The hybridisation of carbon atom in Diamond is

A. sp? B. sp?
C.sp D. d%sp?®
OH
AMfTH BT A B
A. foArat B. fgat
C. 3 eSS S D. df~T+
OH
The name of the compound ©/ is
A. Phenol B. Phenyl
C. Benzene hydroxide D. Benzene

dfSH # o (dTS) dTUSl B AT ©

A.6 B.3

C.2 D. 4

The number of ©t (pi) bonds in Benzene is

A.6 B.3

C.2 D. 4

IoTelT Td relT By frferRad # a1 & 2

A. 30T B. {H9IR®
C. HReTf~H D. g8 4 94l

White and Yellow phosphorus represent which of the following?

A. Allotropes B. Isobars



19.

20.

21.

22.

C. Isotopes D. All of these

fFrferRad # | DIF—41 o1g gl | UgR AT § Ui Sofar § 2

A Al B. Na

C. Fe D. Si

Which of the following metal is abundantly found in the earth crust ?
A Al B. Na

C. Fe D. Si

F, Cl td Br &I fbd 98 & ST o dT 8 7

A. g1g B. &Ry &1q

C. 2o D. arq HaR

F, Cl and Br are known by which name ?

A. Metals B. Alkali metals

C. Halogens D. Alloys

S 9gelidha e FrfeRaa § ¥ a7 §97aT 7 7

A. el B. dfeil grfus

C. gl D. 579 4 9+

Ethene on polymerisation gives which of the following ?
A. Polythene B. Polypropene

C. Benzene D. All of these

ST d9ilve 3R ATSTATSH & A0 &7 T8 o3 W A=falRag § 9 @

9T © —



23.

24.

25.

A. e B. 32
C. Ui D. d5i

A mixture of sodium bezoate and sodalime on heating forms which
of the followings-
A. Methane B. Ethane

C. Propane D. Benzene

9 fSHter T st ot & arer 79 fdhar Sar g, a1 a9ar § —
A. =i B. A2

C. 399 D. it eSS
When Phenol is heated with Zinc dust, it forms -

A. Benzene B. Methane

C. Etnane D. Zinc phenoxide
i | @19 g 31feha 7 € 7

A. Na B. Ne

C.U D. Zn

Which one of the following is an inert gas ?

A.Na B. Ne

C.U D. Zn

PR ¥ & B TRREISTe Iged § ?

A. TSAT—66 B. dlo dlo w0

C. ddage D. Seeiet



26.

27.

28.

Which of the following polymer is bio-degradable ?

A. Nylon-66 B. PVC

C. Bakellite D. Cellulose
UfeseIgs & SITaRIHROT & gaT & —

A. Fraifrtas B. 3fcTigel
C. fem D. Vetsiet

An aldehyde on oxidation gives -

A. Carboxylic Acid B. Alcohol
C. Ketone D. Aldol
[Fe(H,0),(NO)]SO, # Fe @I siferiepror weam & —
A. +1 B. +2

C. +3 D. +4

The Oxidation Number of Fe in [Fe(H,0),(NO)ISO, is
A. +1 B. +2

C. +3 D. +4
fFrefalad & & o ve fReifcT feorls € 2

A. 1, 2 —sffe™ S8 o= B. smaifean
C. saTsd UfaH D. BATd

Which of the following is a chelating ligand ?

A. 1, 2 Ethylene diamine B. Ammonia



29.

30.

31.

C. Ethyl amine D. Phenol

[Co(C,0,),]> & Co &I SifeRiTeRoT =T & —

A. +2 B.-2

C. +3 D.-3

The Oxidation Number of Co in [Co(C,0,),]* is -
A. +2 B.-2

C. +3 D.-3
FeforRaa § @19 Ugell HWhAYT S@el &I od T8l § ?

A. Fe B. Cr

C. Ag D. Ni

Which of the following is not an element of first transition series?
A. Fe B. Cr

C. Ag D. Ni

[Ni(CO),] & Ni &1 iferiieror Hem g —

A0 B.2

C.3 D. 4

The Oxidation number of Ni in [Ni(CO),] is -

A0 B.2

C.3 D.4



32.

33.

34.

35.

XeF, &1 3TPR &Il & —

A. g B. avideiy

C. fRifiee D. Il
The Shape of XeF, is

A. Linear B. Square planar
C. Pyramidal D. Tetrahedral

ferferiad & & @I—0 i H,S0, # o1 #x iferad &1 o1 vefr 8 2

A H,S B. SO,

2

C. SO D. NO

3

Which one of the following gas dissolves in H,SO, to form oleum?

A.HS B. SO

2 2

C. SO D. NO

3

% I A gRT o PR @ 31%h BT ArF=0T fhar e & 2
A ThTgS B. dc®ige

C. fearss D. ®rEiFe

Which type of ore is concentrated by Froth Floatation process?
A. Sulphide B. Sulphite

C. Oxide D. Carbonate

e BT UgE D © —

A. Fe,0, B. FeCO,



36.

37.

38.

C. Fe,0, D. 3% 9 ®Is T8
The chief ore of iron is -

A. Fe,O, B. FeCO,

C. Fe,O, D. None of these
HCOOH @7 LLU.PA.C. 79 & —

A. BTi® 3rFa B. s kel
C. tiifc® a3 D. 3IMIS® 37
The I.U.P.A.C. name of HCOOH is -

A. Formic acid B. Methanoic acid
C. Acetic acid D. Ethanoic acid

foreT @1 sra@vr LIAIH, /[ H,0 & e o/ W fierer & —

A. UTSTRI Tedblalel B. Ade3l Uchialdl

C. SR Tediglel D. afea

Ketone on reduction with LIAIH, / H,0 gives -

A. Primary alcohol B. Secondary alcohol
C. Tertiary alcohol D. Alkane

DR HT I JAD © —

v

A. DIUR UrsRIse B. IR 7o

C. o D. Rrsvise

The chief ore of copper is -



39.

40.

41.

A. Copper pyrite B. Copper glance

C. Galena D. Siderite

SIS O H gl 2, Rifdh I8 Sl & |rel g1 © —

A. 3TaF® T B. 98 HINI® ¢

C. BISSIo ¢ D. Iudad |1

Ethanol is soluble in water due to the formation of a bond with water
A. lonic bond B. Co-valent bond

C. Hydrogen bond D. All of the above

CH,-CO-CH, &1 .LU.PA.C. 79 & —

A. 9T B. U=t
C. o D. Wiua
The I.LU.P.A.C. name of CH,-CO-CH, is -

A. Propanone B. Propanol

C. Propane D. Propanal

gae FfaRad # f5a R &1 FraiEsse © °

A. AT RIS SRSIEASCAIES]

C. 3iffer davrss D. dfefl Yaxigs

Which of the following type of Carbohydrate is Glucose ?
A. Mono saccharide B. Disaccharide

C. Oligo saccharide D. Poly saccharide



42. CH,COOHU® & —

A. FFT IR 3% B. SIEdf¥® ard

C. ¢Ts 9% arrdd D. Iudad |1
CH,COOH is a -

A. Mono basic acid B. Dibasic acid

C. tri basic acid D. All of the above

Evs—9 / SECTION-B
qefss e/ Non-objective Type Questions

TSI 93 / Short Answer Type Questions

T WRAT 1 ¥ 18 Tb TSR & | fdhsl 10 Ul & IR & | AP & oIy 2
3 MEiRd 2| (2x10=20)
Question nos. 1 to 18 are short answer type. Answer any 10 questions.

Each question carries 2 marks. (2x10=20)

1. 3MGYl 3R IFIGe °id & AT B | 2
Explain ideal and non-ideal solution.

2. ORTERUN 19 Bl GRATYT & | 2
Define Osmotic pressure.

3. UIIHe Ao | MY T I © 2 2

What do you mean by a Primary cell ?

4. JIfATHIT B BT W AT KT FHSIT © ° 2



10.

11.

What do you mean by order of reaction ?
dqMg e IR Wifad SISy ue SIar &, 4 ? 2

Physisorption decreases on increasing temperature. Why ?

HRIE & fIgq fAwue & v (2v) 7w &f ford wd goi9 o | 2

State and explain Faraday's 2™ law of electrolysis.

TGHITIH Td TiaT U & U R 31I%h Ud IHD! IR HRe1
ford | 1+1=2
Write the name and chemical composition of one important ore of

each of Aluminium and copper.

TJ fAerf@s & A ford Ud SHa! BH & HROT S~ [ DT A9 Idr [1+1=2

Name two Vitamins and their deficiency diseases.

Hd SAdeTS faad &1 gRuTeT & | 2
Define standard elecrode potential.

frforRad & dver 3 ford — 1+1=2
A. 2—=gHrd

B. gergel Vdice

Write the structural formulae of the following :-

A. 2-Butanol

B. Ethyl acetate

fa=ferRad & 1LU.P.A.C. 99 9a — 14+1=2



12.

13.

14.

15.

16.

A. CH,-COOCH
C|)H2 - COOH
B. CH,.CO.CH,
Give I.U.P.A.C. names of the following :-
A. CH,-COOH
CH, - COOH

B. CH,CO.CH,

4l °let B AlGRAT Ud AleferdT # 3fdR W P |
Differentiate between Molarity and Molality of a solution.
AMqel & TSI & ATYeT AT 19 B AT N |
Discuss Raoult's law of relative lowering of vapour pressure.
feredl gvTa @1 § ? A o |

What is Tyndall effect? Explain.

fr=forRad &1 uRad & BT ?

A. Biffid 3rd | BIFAfSEgS

B. dfoM 9 Yfel=

How would you convert the following ?

A. Formc Acid to Formaldehyde

B. Benzene to Aniline

arfera AT B FASTRT T T B § P e |



17.

18.

Explain, why the valency of inert gases is zero?

PIETHCIT o1 87 IRAT DN | 2
What is carbocation ? Explain.

HF 3R Hcl % vaa 37t &I 8 iR @y ?

Which one is stronger acid, HF or Hcl? why?

e wed /Long Answer Type Questions

o TRIT 19 I 24 OF lY SRIT U9 © | ISP Y99 & o1v 5 3fd uiRd 2 |

fp=2l 3 TeHl BT ST < | (3x5=15)

Question nos. 19 to 24 are long answer type. Each question carries 5

marks. Answer any 3 questions. (3x5=15)

19.

20.

21.

22.

AR @ QI IR RDI BT A o TAT =T 3RD A g BT [ThYT b
Har? fAfhar | 2+3=5
Name two important ores of Iron. How is it extracted from its chief

ore? Give reactions.

RS B G Sd T 2 ? 59 Fgal o1 F DY Fehrell Sar & ? 5

What are the main sources of lodine? How is it extracted from sea

weeds?

TRl BT ST ofs bl fafr erT H fhar <irar g ? 5

How is sulphuric acid manufactured by Lead Chamber process ?

HIEI8TSSC T 82 SADBT dITHRUT d fhar SIdr 87 243=5

What are Carbohydrates? How are they classified?



23.

24.

T B & S ? 1x5=5
A. Bfeagd gRice &I T 34 © |
B. uira i, HNO, & ufaifshar #xar € |

C. THENT Bl ol d«d HIIR ol W Yarfdd oed 2 |

D. d4fSH &1 | HNO, vd H,SO, @ fisror & wrer 74 foban Siren € |

E. AR 3Tcdhigd Bl ATATHROT il 2 |

What happens when ?

A. Calcium acetate is heated.

B. Ethyl amine reacts with HNO.,,

C. Acetylene is passed through red hot copper tube?

D. Benzene is heated with a mixture of concentrated HNO, and
H,SO,.

E. Ethyl alcohol is oxidised.

7 @ =T BN — 2

N |—
—_

+2.=5
A. ®led rMAfhar

B. ®Eige UHIA IrfAfdhar

Discuss the following

A. Kolbe's reaction

B. Carbylamine reaction





